Math Notes Class 9t 1 Chapter 1 | Real Numbers]

EXERCISE # 1.1

Q#1: Identify each of the following as a rational or irrational number.

(i) 2.353535
It is rational.

(i) 0.6
= 0.6666666 ... .....
It is rational.

(iii) 2.236067

It is irrational.

(iv) V7
It 1s irrational.
(v) e

As we know e = 2.7182818284 ........
It 1s 1rrational.

(vi) m

As we know T = 3.14159265 ... .....
It is 1rrational.

(vii) 5++v11
It 1s irrational.
(viii) V3 + V13

It 1s irrational.

0 2

It 1s rational.
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® (2-V2)(2+v2)
= (2-+2)(2 +V2)

- @?-(V2)
=42

= 2

It is rational.

Q#2: Represent the following numbers on a number line.

i 2
Solution:
V2 = 1.414
% B
<| 1 1'.' 1 1 |>
"3 I 4 0 4P "9 3
(i) V3
Solution:
V3 ~ 1.732
E
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(i) 41
111 3

Solution:
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s

11—+ 11—
-5 -4 -3 2 -1 0 1 2 3 4 5
(iv) -2+
iv) -
Solution:
—l————+——>
-3 =2 -1 0 1 2 3
5
(v) §
Solution:
< ——HHitH— >
%, - 0 /) 2
. 3
(Vl) ZZ
Solution:
—
-3 22 -1 0 1 i 3

Q#3: Represent the following as a rational number where p and q are
integers and q # 0:

i 0.4



Math Notes Class 9t 4

Chapter 1 | Real Numbers]

Solution:

= 0.4
X = 04444444 ... ...

Multiplying 10 on both sides

10 X x = 10 X 0.4444444 ... ...

10x = 4.4444444 ... ......

10x = 4 + 0.4444444 ... ...

10x = 4 + x
10x—x = 4
Ox = 4
_4
=9
(i) 0.37
Solution:
x = 0.37

X = 03732 B ... .. .

Multiplying 100 on both sides

100 x x = 100 x 0.37373737

100x = 37.37373737 ... .....

100x = 37 + 0.37373737 ... ......

100x = 37 + x
100x —x = 37
99x = 37
L
99
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(iii) 0.21

Solution:

x =0.21

x = 02121212121 .........
Multiplying by 100 on both sides

100 x x = 100 x 0.21212121 ........
100x = 21.21212121 .......
100x = 21 + 0.21212121 .......

100x = 21 + x

100x —x =21
99x = 21
21

X =99

Q#4: Name the property used in the following:

(i) @+4)+b=a+4+b)
Associative property over addition
i) V2+V3=V3++2
Commutative property over addition
(iii) x—x=0
Additive inverse
(iv) a(b+c) =ab+ ac

Left distributive property over addition
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v) 16 + 0 =16

Additive identity
(vi) 100 x 1 =100

Multiplicative identity
(vii) 4x(5x8)=(4x5)x8

Associative property under multiplication
(viii) ab =ba

Commutative property under multiplication
Q#5: Name the property used in the following:
i —-3<-1-0<2

=-3+3<-1+3
=0<2
Additive property

(ii) Ifa<bth 1>1
ii a en —> o

Reciprocal property

(iii) Ifa<bthena+c<b+c
Additive property

(iv) Ifac<bcandc>O0thena<b
Multiplicative property

(v) Ifac<bcandc<Othena>b
Multiplicative property

(vii) Eithera>bora=bora<b
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Trichotomy property

Q#6: Insert two rational numbers between:

. 1 1
(i) 3 andz
Solution:
_ 1
First average = 3 + 2
3+4 7
T 12 12
7 1
“1272
7
1st number = o2
1
Second average = o4 + 7
7+6 .13
T 24 24
il 33
D242
13
2nd number = 18
(ii) 3 and 4
Solution:

1
First average = (3 +4) X =

7
1st number = 5

7
Second average = > + 4

_7+8 15

2 2
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15 1
=7 %3
15
2nd number = —
4
(iii) = andg
Solution:
_ 4
First average = 3 + T
+4 7
"5 5
F 1
~572
7
1st number = T
7 4
Second average = 10 + 3
7+8 15
N 10
15 1
1072
15
2nd number = 20
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